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48 + 33 x − 9 x2

99x → 1����6 I11 −è!!!!!!!!!!313 M=, 9x → 1����6 I11 +è!!!!!!!!!!313 M==
88x → −1.1153<, 8x → 4.78197<<
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99x1 → −2 − 5 x5�����������2 , x2 → 1 + 5 x5�����������2 , x3 → 5 − 5 x5�����������2 , x4 → −2==
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84 + 2 x, −2 + 4 y, 0<
ü a 810, 6, 0<810, 6<
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993, −1 −è!!!!2 , −1 +è!!!!2 =, 98−2, 5, 9<, 92 −è!!!!2 , −1, 1=, 92 +è!!!!2 , −1, 1===
883., −2.41421, 0.414214<, 88−2., 5., 9.<, 80.585786, −1., 1.<, 83.41421, −1., 1.<<<
93, −1 −è!!!!2 , −1 +è!!!!2 =
83., −2.41421, 0.414214<
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88−2., 5., 9.<, 80.585786, −1., 1.<, 83.41421, −1., 1.<<
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8−14., 39., 87.<
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